
SBL 0302 Salon Bridgekerho

2025-07-04  Kesäpäivä II Lopputulos
6 pöytää, 12 paria. Jakomäärä: 18. Keski: 90,0. Keskimäärinen tasoitus: 8,8.

Sija Pari Pisteet % Nimi VP/h VP/s VP Tas% Tas J-ID Kerho

1 2 120,3 66,8 Jarmo Laakso - Anne Vesanen 6 6 6  5,8 -10,7 1365 2941 Salon Bk
2 3 98,2 54,6 Anna-Liisa Hiuspää - Tanja Leander 4 4 8,9 16,7 7,2 2918 3305 Salon Bk - Ei SBL:n jäsen
3 8 98,1 54,5 Ulla Kakko-Paajanen - Piiti Järvenpää 2 2 15,2 15,9 12,1 2938 3325 Salon Bk
4 1 92,2 51,2 Jukka Pettersson - Matti Alanko 6,8 14,4 3,2 3023 2736 Salon Bk
5 5 89,8 49,9 Timo Mäkelä - Peter Soinu 4 4  6,3 -10,2 1319 2940 Salon Bk

6 6 89,5 49,7 Jari Hilska - Arja Niskanen 6,4 11,8 0,5 1883 2956 Salon Bk
7 11 88,5 49,2 Kimmo Kanerva - Janne Holmqvist 2 2 4,6 4,7 -7,5 1386 1387 Salon Bk
8 9 87,7 48,7 Janne Blomqvist - Henri Virtanen 6,2 6,6 -4,3 2840 3301 Salon Bk
9 7 85,9 47,7 Tuomo Sajaniemi - Riikka Sajaniemi 16,6 16,5 13,9 2979 3184 Salon Bk

10 12 85,5 47,5 Hanna Ruska - Liisa Sievänen 15,7 15,8 12,5 3185 3183 Salon Bk

11 10 82,9 46,1 Nikolai Kaplitsnoi - Pertti Partanen 4,2  -12,1 1360 1370 Salon Bk
12 4 61,3 34,0 Markku Lumme - Jyrki Happonen 12,4  -4,7 1392  Salon Bk
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